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Final Exam ECON4715 – Labour economics

This exam has 4 questions, with in total 13 sub-questions.
All questions are weighted equally.
When answering the questions on the exam you should be brief and to the point!
Make sure to write legibly, difficult to decipher answers will not be counted!

1. In this question you have to indicate whether you think the statement is true or false and
explain why. You do not get any points if you only state whether the statement is true or
false.

(a) The Earned Income Tax Credit will affect labor supply only at the extensive margin.

(b) The supply of labor will not change if all prices and wage rates increase by the same
percentage.

(c) The introduction of a minimum wage can have positive effects on employment.

(d) Omitted variable bias in estimates of returns to schooling is always positive.

2. Migration

(a) Explain from a theoretical point of view how migration affects the wages of native
workers.

(b) Analyze the selection of migrants using the Roy model. Show when migrants will be
positively selected, and when they will be negatively selected. Can both positive and
negative selection occur at the same time? Explain.

(c) Empirical research has used spatial research designs to investigate the impact of
migration on the labour market outcomes of natives. Explain the main idea behind
these approaches, what they tend to find and how to interpret these results.

1



3. This question is about Aggarwal, R. K. and A. A. Samwick. (1999). The Other Side of the
Trade-off: The Impact of Risk on Executive Compensation. Journal of Political Economy.:

(a) Explain the source and intuition behind the fundamental trade-off in a principal-agent
model.

(b) Solving a traditional principal-agent model, the authors find the solution for the
performance-pay related component of the optimal contract:
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Explain why the optimal pay-performance is decreasing in r, k and σ2
e .

(c) The article’s main results are given in the table below (change in wealth is measured
in thousands and performance is measured in millions of dollars). Does column (1)
in this table support the principal-agent model? Why or why not?



4. This question is about Arcidiacono, P., P. Bayer, and A. Hizmo. (2010). Beyond Signaling
and Human Capital: Education and the Revelation of Ability. American Economic Journal:

Applied Economics. The authors main results are given in the following table:

Assume the AFQT is a perfect measure of ability.

(a) Is there evidence of discrimination of black people with a high school degree? What
about those with a college degree?

(b) What type of discrimination is consistent with the results in column (1)?

(c) Is there support for people signaling ability through a high school diploma? What
about a college degree?


